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Rs.15 less than the marked price, receiving a
commission of 15% on the selling price. If
both A and B receive the same amount in
commission, then what is the marked price of

: ~ the object?
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3. Salesperson *A’ sells an object at a prica Rs. 2
© 5 less than the marked price, receiving a ool el o e ‘
commission of 5% on the selling price. The I 5,53 2. 51,555,
same object is sold by person ‘B’ at a price 3. 5,5 4.5
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There are two examinations, A and B in a
subject which are cvaluated out of 30 and 70
marks, respectively. In order to pass the
course the student has to get at least 40 % in

total and at least 40 % in B. The following -

are the marks of the students §, to 8.

different means, ntsrty Uil
deyviations and different Wcmucrlts aof
variation -

4. different means, and standard devia-
tions but nearly equal coeﬂic;ents of
variation

4-A-H

7. Fer & et we sy
I 183 SIET
3. 157 - 4.10201

T Whach one of the following numbers is a

2 121
4, 10201

Opening  Clasing  Highest u
dateprice dateprice  price price
[ April 5 May =] June
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Pick the INCORRECT statement,
g I. 'The highest price never crossed 75

2. The largest difference between the

highest and lowest price was for the
. month of June '

. 3. Month of June showed the largest
decrase of price between the opening
date and cloging date price

figure A but not fig
mB'bt}lnutﬁ
1gures A ang

gure A
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11. ABCD is a rectangle and O is the midpoint ot P 3w T A R e
of AD, P and Q are points on AB and CD, . Rem R
respectively such that AP =>AB and

B are at T - L.
cached ;Kﬁl‘lt A ﬁfsll‘l'ld I.h!l‘l ’
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15. A metal wire is stretched along its length,
R N Another identical wire is heated. The
: b resultant length of the two wires is the same.
&k What can be said about the dismeters of the

=k Sl Ny Ny e T Ty
10, i ESg HEi U .
~ier qi'E‘i’q't =I5 5

‘ son has at least one: hair ¢
jead. st twa persons in this

ranied have cxm:(ly the sa
hep tof  D@ieton  their heads if g
lafigh of thae
is @ ler tha Xill'II'.LI]'I [MO5 i

p of hair onf
islesSilign the maxim
wtpber@iihair on the
gl lcaston -_.a-'-_

3, nﬁmwmﬁwm%m &

2. Onthe cast coast
FET 3. Inthe north-eastern hills
' 4. In the Himalayan foothills
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17. TF 7% 1 8 om 74T 6 em A A wHiAT 19. wF ifiF R w1 AT 34587 400022
Frat rrg ¥l em B w g f - 1 et A of Rure # 4% gu
forear (om #) e gt = & & 9 oftore % mfe =T @
L 4 ' 242 T e

3. 5 4. 5\2 1. 34567 2. 3457

17. Tmpaml!elchotdsuflm e,

---v- alﬂﬂg 1w
5. of 1 solid of
Spectively, The obj

8. &

0 ?n e ordiml.e ofgmp&ﬁ " . {x € Rlx = log (p) N
: INCE 200800 ncensey
3. >
2. {x € Ri(cos(x))" + (sin @))" =
1 for some n € N}
4—A—IH
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g .
3 {x € Rjx = log (E) for some p,g € N} 3. V¥ 1-Va>1 swam: ‘Tﬁfi’mﬁﬁ n
4, {xER{cos(x)=§lbrsomep.qem}' : %Fﬁwuﬁfﬁq e
4. n + 1 —n > 2 g afiifEmss o
22, UH ATHA {a,} T R=w fifdr, . ' A S ey - :
= (:1)"‘ G-2) wrifs 24. Forn € N, which of the following is true?

1. v #1 —Ji:n% for all, except
[initely many n
n 1 — Yl for all, except

- 8
2. %

"TSIR NET&

...
i en s

I VFT— Vi > - e
n

fn(x) =+x Vx € [0.0)

£ F&'-mrﬂ*ﬁ'lt 2 4. GX) - Vxe[0,0)
2.4.n+1-ﬁ<-§:ﬁm:wﬁﬁaﬁﬁn alk
¥ feramy m=¥ o
- 4-A-H
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27, n ¥ T AT T wW oA () F o« F o (; i) 3 (;:;
s agrEl ) afRka i P, WA ‘ -
w0k TP, Py ® THE) = 5. (3 g) N G 3
I reoyar+ p* () & wfeafa v & srard _

{1"1"’] Wﬁ[l.x.x’;x"} F B

e OMI=0 wi=

28. Let Py(x) denote the characteristic poly-

nomial of a matrix 4. Then for which of the

" following matrices, Py(x) —P4-1(x) is a
constant? :

4-A-H
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s b

31, FHaU [0, 1] WarmRw g A dma - Unit-2
wet i gk g v e & )
{sin(x), cos(x), tan(x)} & =gt v &t

e 3. A i = V=T R A, Bl

et 7 | maﬁmﬁ‘mﬁrﬁqu&rﬁcmﬁ ar -

1
| rwatordt

0 T R W
414t} aar VE W T

.' ) o function.i.e h(e) = h(-t XW‘TT‘F ' ‘
2. hi’ﬂl‘l } 1 ‘Dl'l e h(t) WW Ref [z 1 AT
4. h{0) = aa:’

4 i
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35, Given a real number a >0, consider the
triangle A with vertices 0,a,a + ia. If A is
- given the counter clockwise arientation, then
the contour integral ¢, Re(z)dz (with
Relz) denoting the res) part of z) is equal io
) b
1. 0 £

tire function such that
, Then which of the

For any integern = 1. fet
d{n} = number of positive divisors of e
v(n) = number of distinct prime
divisors of n

" w(n) = number of prime divisors of n
counted with multiplicity

4-A-H

12

[for example: If p is prime, then
d(p) = 2,v(p) = v(p*) = 1, w(p?) = 2]
1. ifn = 1000 and w(n) = 2, then
d(n) >logn
2. there exists n such that ¢(n) > 3vA
: 2" < d(n) < 20®
@y then d(n) = d(m)

. GRATE 3
2 ual;w-rlh e 3 i
S.GWE?WCWT_ i AR

2. IFR has finitely many ideals, then R is
finite

3. IfR isa P.LD., then every subring of R
with unity isa P.I1.D,

4. If R is an integral domain which has
finitely many ideals, then R is a field
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40. A% '
4 mﬁﬁx a:‘; m S 4 B}: ,;af:?;e gua of A for which the equation
, x Y(x) =0 has non-trivial soluti

1.3 A g &, 7= s e 4 aravas sasfying y(0) = y(o) and ') = y'(m)wre
FTd gag A 2 : La=22 p=12.
2, ﬂﬁAwmg AT THFT HIF A T 2.4=2nn=12,..
W% 3, Z=.n_.. n=1,2,..

3, afxa mz. TS TR S

s closure A is not

oted, then its closure A

s {nferior is not
! € R*;

R>0% R rDr
; Ell’.x +y: > RI¥
. : & PoE
(%, e+ v* < R}
2
7 00 31 7 y(3) | """"‘;‘”"‘”f
L= O

2 1 i ‘u

au

+ g BT oY
+eay

O are po!)mnmi

| coefficie
g is true for di

Iicin((x y)' >
4. There exists R > 0 suchis
lic in [(x, 3o

a4yt < R)

L A=M' - ‘ § “1;

Lhz‘:n_”_ at 3y T (x.8) € (0.1) X (0,0)
e , =12, u(x,0) = sin mx, " x€(0,1)
A== 1,2 u(0,£) = u(1,t) =0, t € (0,0)

4 A=2n~1,n= 2
4-A-H

PYQ June 2019 - 11



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

12

T A AR AR E 46, AT () 7 7 A P v A
[ ) 5 ~% ﬂfmﬁﬁﬁ%me
B 3;.51; i)E(ﬂ ,1) % (0, 00)3 ] J(x) = f[xz(t)+xzft]}dt

2. E;:n(x ) €(0,1) x (0, w)%ﬁi aaﬁ:x(o; 0.x(1) = 1 S A T
—-_(x t)=0 o

(x, £) is bounded for

) € (0,1) % (0,%) such

where m,n € . With any inittali¥€eter, the kTt
scheme converges provided m, 7, satls :mm-tft«&ﬁ%aﬁmf)&

Lm+nun=3 2, m>n
_ - 3 mgaﬁa@ﬁgﬁﬁ%mu wfr & uw
i LT memt@aﬂémﬁ
: ' foaz yorreft # fRafa g % =rdrga Aot
 wrrr ForT ST A 9 STl &7 e

4-A-H ! £ L=
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B ?d*—gtq—vot) ' ' FIX;'>X3>X3 > Xy> X)X, =

22— Lg-ve? max (8 X X Xy X)) T 07 &
3 %q""'+ "%@ = vgt)
4. TG +5(q = vob)?

L |
>l
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48. Suppose 1 point mass m is attacheduts : s _having @ continuous distribition
end of a spring of spring i e n ”
otherendof‘lhus g

1/3 1/3 1/3
1/3 173

v Chain with st
sition ma

o 3p§1Ncs z@o"@“ )

S0, TR Xy Xo Xy XoXg ST T27 Dol B
Lid. Higi>as ST ar - '

—
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52, m_f(x)ﬁ-maﬁnﬁw@amz : 119 2. 4

fGx)=ce ™, xeR i = 3526 o 4. 27

cF o am % g srfiear o v ' o

#rm 54. A random sampleof size 7 is dravm froma
distribution with p.d.f. '

=20<x<f 6>0
otherwise

AT i on, T

CSIRNE E ST S

f o1ex?
0. ' . 4. By THOTHT B HAT 2 : =T

Td THAR 12, ~54, 26,2, 24,17, -39 &1
R & 6 FT Faana TRAHAT ST FAT 27
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56. There are two sets of observations on a 63 2 3 4
random vector (X,Y). Consider a simple e 04 02 02 02
linear regression model with an intercept for '
regressing ¥ on X. Let f be the least squares The probability of inclusion of unit 1 in the
cstumate of the regression cocfficient sample is -
obtained from the i-th (i=1,2) ser 1. 0.4 2. 06
consisting of n; observations (ny,n, > 2). 3. 0.7 4, 0.75
:_-et ﬁ%.:e the least squares estimate obtained
rom the pooled sample of size n, + 1, . Ifit 50w £ (X)) - = 1
is known that f, > A, > 0, which of - ﬁ‘(?)"ﬁ‘“‘_‘““‘ I sgh

following statements is true?

55 /2, where f; 3
isities of bivafy

234 Are sample multiple
15 of'a'l'i on xz.ng and
-- ively. Which of the
w4 = 0.7
=03

0.7

L iR Ty [T =

CSIR NE el

= sz« - N SINCE 7003

i : probability
proportional 1o size without Fep
sampling scheme, where the probabilitics
propurtional to size are

4-A-H
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| 63. W f:R - R9T e #¢, ma R 4 &
HTT/PART- C AT
] 1. AR f F a% X-ae7 F T G
Unit 1 | ar 7 9 & w4 fagd AT
61 AT 5 (ay)nz0 TS RS RS ¥ 2 féf:ﬂﬁﬂasmﬁam
frazaf K= HMSUPpscol i 2 ey 1 At o FE A f
i‘rﬁmﬁ%!ﬂﬂ-ﬁm‘{? ' ki

63. Consider a fisglion /-
of the following ety
I. f is notone-one
intersects some line'ph
at least two points
[ isopes

g are true?
S aanr™ is convergel

1

in Y=o @nr" isnot
orany r >0
n Yoo a,r™ is convergel
> 0

0 3o anr™ Is not

R = [0,0) by d(x.3,
R Then which of the following
L d{x.y) = ﬂifandnnlyifx-y F%

2. d(xy) =d(».x).x,yER

3. d(x,y) = d(x,Z) + d(z.y). xy,z€ R.

4. d is not a metric on R.
4-A-H

anyling paraliel (0
; int
rjective if the'graph o
: ;ﬁarallel:oxm
[ 1sine urjective if the graph:
not if Bt [east one line patalle
- X-axis:

R = J e
e ﬂiﬂi‘?

2, 7 (x,) ST, A Oy o AT

$/06 CRIE/19-4 AH- 2B

PYQ June 2019 - 16



CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

Email: cmscsirnet@gmail.com

.
3. 4% x, ) WA 8, A (3, ) P oRaz 2 I fis diﬂ‘qrenﬁz;hie'a:;
. 3% () TP R ) o e s i
65. Suppose that {x,,} is a sequence of positive lim, f‘"(x). = f'(c)
reals. Let y, = 2. Then which of the 4. [ is differentiable at c but f'(c) is not
Aollowihgie s - necessarily lim,..,. f'(x)
1. {xa} is convergent if {y,, } is convergent, o _ _
2. {y, }is convergent if {x, }is con : o Rﬁﬂsﬁﬂﬂ!’i e 7T R E g
3. (s bounded 1 3, T o AT F 3 St A A gy e &
4. [xn) is bounded if (v, ) is.botifl i :\Q

e iy oY% [T - R WY
‘ o FT T f.‘(x‘,xz,xa_) =
(%2 cosx;, exisim
[x s@l/x), forxe (01 .
- forx=n0n

=

T @

fifor 0 < x < 1. Then
ing are true?
variation
2d variation
bound priation
of bounded variation
s (e, b) SR waT a7y 4 9. Lef} 58
¢} ¥ 77 [ Te Sy uy [Orilxz,xq) =

g “ﬁﬂh‘

67. Leta<ec< b, f:(aB
Assume that f is differentinhleatie

of (a,b) \ {c} and f' has a limit a

which of the following are true?

4-A-H
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70, X F 0T g e A9 e A T=Tehgaag Farrasm g F w
Taa T ufrfm fefra afRer aaf® g aar
1 e f B ond T 8 LT T o s
2. x % tmr AfEE 4 § B xa) T % T:?ﬂrﬁ'r;ﬁﬁ, T, T &

L 4, T, , T, Ar=TEE
3. ¥ i AR d & B (xd) WA _ e .

4, xwﬁm‘ﬂﬁt‘dﬁ i (X.d

“ be a {inite dimensional vector space
2V =V be a linear map. Can

o Ty for some linear
v, where W is
tor space and

3 T,l is onto,
4, Ts isone oo

A= ((‘lu))ﬁ-"lx:*

i ciricd on X such that
DIMIC

=% Ker(T) 981 T
A ST A A

(R¥)\{0) & o om
(RN (0} 7 & Fr o
g N(0) # P

pe space of .A.-.....-,_.'.,

o lhc f:rllcrwmg

g EHR NE mm

: Kﬂ‘('f )
3. There cHli € L(ll‘)\{tl] such that

72. ur i Roww wffae fefir afte sz 7 - -
qar TV -V Hew wfaf 2 aw 3@ q(x) = J3 p(O)dt, r(x) = 2-p(x).
’tﬁ'ﬂﬁﬂ'ﬁ#ﬁi’f?}v—»w Tzw—»v%ﬁnz -

4-A-H
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Let V' denote the real vector space of all 76. Consider a matrix 4 = (ay;),
- 5%5"

‘polynomials in x. Then which of the followi :
] ‘ j
1. q and r are lincarly independent in ¥ nisty & N. Then in which of the following  *
2. q:nd rare hm‘y dependent in 1/ : cases 4 is a positive definite matrix?
3. ™ belongs to the linear span of g and r Loy =iforalli=1,23,4,5

4. x™7 belangs to the Yinear span of g and 7 LM SNy <<

75, M,-,(ll}ﬂ'lln'c.nx :
# e i & we g '

2,3,4,5% R TNy

SINCE 2000

atrices are of the form PCAP for a suitable
2 X 2 invertible matrix P over Q7 Here P
denotes the transpose of P.

4-A-H
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2 0 5 (2 0) 80. Let Re(z),Im(z) denote the real and
! 0 —-2) 0 2 imaginary parts of z€GC, respectively.
Consider the domain Q = {z € C: Re(z) >

: 4

3G %) . (G 9 [Im(z)[} and let fa(z) = logz", where
n € (1234} and where log:C \ (=c,0] =

€ defines the principal branch of logarithm.

hi of‘the f’elluwingm true?

'E?.p‘dnzn

2% + 1) sin 2* for z € CIE
xy) + 1v(xy), :
X + iy and u, v are real valtie

en which of the followin|

is infinitely differential

82. ﬁﬁﬂh‘ﬂ- zEC]lzl.

m(z) ==

w@

‘ MR NET tdsi’-ﬁﬁ*

[1.2 3 4]

Ly o]

2. f2(Q) = [z € CTONE =
3. ) =[zeC:0 < [Im(z 2. thunneloone'

4. fo(Q) = {z € €:0 < [Im(2)] < ) 3. Fisonto
> 4, F is not onto

4-A-H
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8. acZATAN fFa= b+ c2 i 85. Let Z[X] be the rin
. g of polynomials over

bce z\{u}, a9 a ¥ T 7 Fre wwy - integers. Then the additive group Z[X] is
I. pd?, 51 d € Z74T p 39T & s 1. isomorphic to the multiplicative group

p = 1(mod 4) ~ Q%of positive rational numbers,
2. pdz @i d € ZAaTp w9TeT 3 Tafs 2. isomorphic fo the group of rational

p = 3(mod 4) ] nurnbt:;s[ @ under addition
: 2 . countable
3. pqd*, 9=l d € 2947 p, g ST § St 4, soakble

P = 1mod 4),q = S(mad 4)
. pqd®, TRt d € 2 74T pg T

9 is 4 prime with

1 £(x R) Freges
% and p, g are primes % xe X F ™
mod 4),q = 3 (mod 4) - 4. C(X,®) T 9

: dEZamdisw .
t‘.‘( bethenng % 18 ons
-_ : IOR.FOrmy E(IJ I =

,.n)|_,r(§)=ol Therkm lm
ST
: - 'stb

@)

T e 8 g ey
T UF AIAT§
w&nr-ﬁm'v-s s‘mre'r
(Sylow) ITawg 72

: Lz.(zf? :
hn!‘thefult ying are

W RX + 1is ireducible over Z if

: n € [0,-2)

4. oty 4. X* + nX + 1 is reducible over Z for
infinitely many n.
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88, Fyp T 8TET 27 1 9RFT &7 711 &
g€, Fm A, =L, 1+al+a+
a?,1+a+a? +a?, - ) afenfia fear
ST 2 A9 e § A F e aem 82
1. o € IF,, &t dwar s avg B 4, | = 26,

2% aac
2. 0 € A, af% v Fae g
3; [A;|=27

inte at(o.n

2. Eml,zﬂ‘ma 2 F
3. En&nﬁ,ﬂ'ﬁmtﬁsﬁgﬂ
4. ENAyNA, EXTaA IR E, 4,4,

wft e &

4-A-H
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90. Let X be a topological space. Let Ay, 4, be

two dense subsets of X. If E € X, then which

~ of the following are true?

I. ENA, isdensein E

2. EN A, isdense in E if E is open

3. EnAy oAy isdensein E T E is.open
£.0 Ay N Ay is dense in E il E, Ay, A; arc

B
wawnﬁhair _
. :v;(z)"f

92. Consider the equation y"(x) + a(x)y(x) = 0,
a(x) is continuous function with period T. Let
¢1(x) and @, (x) be the basis for the solution
satisfying ¢, (0) = 1,91(0) = 0, $(0) =

PYQ June 2019 - 22
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0, ﬁ-(ﬁ) =1 Let W(dy,$;) denote the 94. The general solution z = z(x,y) of
Wronskian of ¢y and ¢,. Then (x+y)zzx+(x—-y)zz,-x2+y is
I W(gnd)=1 1. F(x2+y% + 22,22 — xy) =0 for
2. W(py,bs) = e* arbitrary C* function F
3. @1(T) + ¢5(T) = 2 if the given " 2, F(x®—y®—22,2%2 — 2xy) = 0 for
differential equation has a nontrivial arbitrary t.“ function F
periodic solution with period T' 3, -F(x + ¥ + 2,2 — 2xy) = 0 for arbitrary

M+ =1 lrthegim diffi
tial equation has a nontrivialiperiod!
solution with pezie

»~

Con

: =2n+
n+1)%),n =1

be a Lipschitz function such
C ifandoulyif xr=+n?

iRET" (—h) — ch®f'(h)
i % Rab,.c Fam

’ fy3 3 . ¢=l b-l'g =
4. f‘(x =y’ -z%z-2%"%y?) = 0 =g AR AR
CIWF%ﬁﬂ{ 2. a=l b=£ _,_,_'1
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3. a:;;-.b_:::;,c:f; FIEH u HH & |
-t 15 * 15 Wiﬂﬂ'%
() x<0FFms(x)=g(x) =

a6, mv'ﬂ\iﬁe'ﬁfc.'.hfﬁommwﬂﬂ i) s u;mo {f(x) <1,

) f) = .9(: .
0 < f(x) < 1lorx > 0,
g(x) > 0 for

*u  2u e ; .
W0 =f@), ~ rER L-du=f S+u=g
U (x,0) = g(x), x€R, 2.8u=f, P-u=yg
4-A-H
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3.-tu=f, =g 101. Wmm
P R T o) -2 j'_ixe‘qa(t)dt = f(x) T =
#4 : T
s Wﬂiﬁw ft sifirera €1 o 3 . ¥ 59 G £: [—11]—»(0 m)a
(x ﬂcﬁrwﬁwﬂwm 1 I S v
x,y) u % f 2 2. N FA G f: [~1,1] » (= 00,0)

o Forads o g7 avrerer g
. LetB R?/x? :
s [(:g'(;ﬁfyz!x et f and MG = e~ (1 - 3x%) % R d g

6 @) + (e
y(1) = 2% 5w

2P —(mnp- log(sinp))
chc P) (,, qpr®)
Then

4-A-H
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I only the transformations given in () and ~ 105, quitat = v Fwer wwfi argfaE W o

(b) are canonical

o=t siat 2T wEeaT | H wEeT i —
2. Emiy -thg‘tt:ﬂgforma_ﬁn'n,s given in (b) and e Wﬁﬂﬁ A é %ﬁ ;nﬁ'}é‘t
¢) are canonical
3. only the transformations given in (a) and - @ REA AR

{c) are canonical I msﬁammmwﬁa

B & f'}f_‘,j_

LAY ]

i —Q alftilir 108, Consider a si
AR IR DY un IICELTS, Wiere
moveto { — 1andi
each 'I‘!tenwmchoﬂh
. The rapdom= .

hairandom wall jrred
random walk i§ipositivi

= Q plot is drawniy
mmple Xq, 0+ 4 Xy, fron
'iity_qi_strib'uniun For whig
i distributions would ya
@'= @ plot to be convex

.F {0;1.2]17'" SER

SBlw © woluve=
20| v | WSO B

TSTR NET $185 7

Ixﬂ

1) and X are random variables'on's n iy
y'space. Suppose that X,
bubility, Which ufﬂ%EIE &aM hath with state space
Of Matrix
1.£(|x,. : 0D 1 2
2, P(Xp = x) = P(X < x) ford o /L5 X
3. E{(Min( X —Kl)) - 0 e Lo
4. |X, — X| - 0 with probability | k=
¥ 3 1
2 '\2 8 8

Then which of the following are true?
4-A-H
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I limye piY = 109. Xy, X, F1 i.i.d. 75fas = art R

s 1 i pd.f.
2 MMMy G = ity ey D5 ; B0 weaza
: : Y = ) , 0<x<
3. i P = : folx) [2 &z .

4. lim,,, piM =21 o
- 21 T3 Hy:0 =2% Rz H;:0 = 3% Themr

107. X,Y# Lid B9z (n,p) s5fas soamh TEEAW [: Ho 1 sredt F¢ af sl

-

ERE ] max:{xx.xz}.-s 1

Fad g aaw
. X+ Y~ Bin(2n,p)

2. (X.¥)~ g% (2ng

Z uy + a
3. T 2 ST
4, wrwr | At

109 Leg Xy, X; be fodetuiun

Test |: Rejéa
ax (X3, X;} <1
est 2: Reject H, if'an
B Xy, Xz} =1

Arue?

e f.i-deN( 'S 1, _WhErs
dfiknown. Consic fass o

NG Y] N

gt i o i1, =
 for o if €y =~

4-A-H
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3. |X] + |Y| ®1 5re 0 & afl 7 & ' 3. The distribution of X5 is symmetric
*1) %2 =T about 8
4.-m (Yz)m ’ 2') ' F‘I’ﬂ’ﬁﬂ{m‘{ 4, E[X(k)+x(z,,_u]tssamcfmall
3 g &, 79 6 F forg Iswaw k=1,2,,n

aTfaT ArFeT §
max {Ix.| + (3], lxal + 1y}

112. X SO0 FaT & p-FEA= (p > 2) F&9 1
-._,_r._ E{xj = “HHT Var(X) =% g @rfas

110.. LuS,bethesqmmg:anwi our

112. X follows & p-vart

"- observations WIIN £(A) = @ and Vagy
' ' the following are lruc?

enutly, then the maximum L E(XX) =5+ up’
imate of A.is 2. E(X'X) wttrace
i V2 3. ( _E-' : A
. $P[(=p) =7 (X — )
ne 1 (1 > 5) 1 AT A0, or b # 0
dfif, Tz #5F (bounded
ST 6 % AT WA A
RN X (2n—y) TREEE I
&1 7 sfrsts 1 fer &

— Xy ¥ URAR AT
X(an-1) F TH-H #

3 T,_Tz ePo
4. T,T, = e

4-A-H
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114. aA &= by, bz v by ~ ; i.d.N(0,72) 741 115. Consider a classification problem between
by by, by T AT TTH i = 1,2+, 10; two classes having densities
j=1,2,,m,% R e ~1.i.d.N(0,0?) A =10Sx< 1and o) =1+
B X, = b+, SRR #h o2 ¥ cos (2mx); 0 < x < 1, respectively, Assume
S that the prior probabilities of the two classes
arers £Y vy, e (statistic) - are equal. Which of the following are true?
n = L s, E}‘e& Xﬁ ) 1. The Bayes classifier classifies an
s observation to class-1 if x € G,%)
12‘ a;alhaa*% s 2. A randomly chosen observation from
Briic SARIATE & class lsmisclasscﬂedwhhpmbahllhya

16, Y, ¥, Yy~
ma‘mgl 1r
¥ Us SRSWR
Y_fz._'"a A i

“p } o7 99 7
. T F7 & T Dy
¥ . g Bk~ Y3,

B hen <2 = 0 e i 7
. — oo only when 72 = T, Np—_

N(N-n)
T .‘m_‘, Elal(

< 1791 . 2 Yewor T Y,V
pi=sx< 1. :
mﬁ%ﬁmﬁ

N R NET &."th ’

.I’u

4-AH
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1. The conditional variance of fiyp given put in series and parallel, respectively. Then :
N(N=n) 5 which of the following are true?
¥, Y, 1 =% ;
¥ W s gy 20 = 1) 1. hy(t) < hy(2) forall £ > 0

2. The conditional variance of %o given 2. hy(t) < Aforallt >0

VYoo Yy is g Bl (G - P i :1'(_*) a? ”;' ot = ey
3. The unconditional variance of Pyp is ot T e Sl

N{N=
s
. The unconditional varia

17,

1 mﬂ‘nihs laoow
t#

F H %, 0
.‘ L GOQRERFT | £ 7147 . 400 %
M), ‘Ol W a 1

@iinvest Rs.1000 in compde

l»:ll.— mrhm
I, treatments A and B ’ - "SR .
kS 1 and 3 and treatments L If theimasket is good, company
dto black 2. Hence the declare dividene 0% while company
il ideclare 30%0 M the. market isSbad!
ny | will dechase dividend of
company 1l will Ydeala Z
Gn is that market be g
$,0.4 and bad with probabi od'-l

mims

_',. ATAA & EM-
; ﬁ‘z:-oi;f&-qt

118. Consider a system with two

whose lifetimes are 1id expnn w:m N
hazard rate A. Let hy and hy be the hazard ﬁqmﬁm@ﬁﬁﬁﬁﬁﬂﬁ-ﬁm

functions of the system if the components are 2
4-AH
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